Key Stage 4
Homework Assembly



Year |10 Homework Timetable

Monday Bedrock Learning Ebacc Option D Option C Modern Britain
Tuesday English Tassomai Option B Art Option A
Wednesday Hegarty Science Modern Britain Option C
Thursday Ebacc Option D Tassomai Bedrock Learning Option B
Friday Hegarty Science English

Tassomai - 50 questions per week
Hegarty - 4 tasks of Hegarty per week
Bedrock Learning - 2 lessons




l(ear 10 - Homework plan Geography - Changing UK economy

Week/Date Homework Task | Examination Question

Week 1 Cornell Notes Using the Pie Charts in the KO (week 1)

6th Sept Causes of change | Describe the change in the UK
in the UK economy between 1800 and today. (4
economy marks)

Week 2 Revision Cards

13th Sept Post-industrial explain how the UK has moved to a
economy post industrial economy. (6 marks)

Week 3 Cornell Notes Use an example to explain the

20th Sept Impacts of impacts of industrial development
industrial on the environment (6 marks).
development on
the environment

Week 4 Revision Cards Contrast the economic or social

27th Sept Changes to the challenges associated with rural areas
rural landscape in | of population growth and decline. (6
the UK marks)

Week 5 Cornell Notes Explain how improving transport

4th Oct North-South links can help reduce the
divide and north/south divide. (6 marks)
transport changes
(session 5)

Week 6 Revision Cards Outline how the UK benefits from

11th Oct UK’s place in the [ having close links with the rest of the
wider world world. (6 marks).

Week 7 Revision (any

18th Oct method)

Week 8 Revision (any

1st Nov method)

Week 9 Plug the gap




Week/Date

Homework Task

Examination Question

Week 1 Cornell Notes Using the Pie Charts in the KO (week 1)
6th Sept Causes of change | Describe the change in the UK
in the UK economy between 1800 and today. (4
economy marks)
Week 2 Revision Cards With reference to a named example
13th Sept Post-industrial explain how the UK has moved to a

economy

post industrial economy. (6 marks)




Add the Question here:
Using the Pie Charts in the KO (week 1)
Describe the change in the UK
economy between 1800 and today. (4
marks)

\

Write your exam answer here using
your Knowledge Organiser page




Week/Date

Homework Task

Examination Question

Week 1 Cornell Notes Using the Pie Charts in the KO (week 1)
6th Sept Causes of change | Describe the change in the UK
in the UK economy between 1800 and today. (4
economy marks)
Week 2 Revision Cards With reference to a named example
13th Sept Post-industrial explain how the UK has moved to a

economy

post industrial economy. (6 marks)




Date 9/9/21

Title: Causes of Change in the UK Economy

Note Taking
(Details, Information, Bullet Points, Short answers

Key Words

(Definitions, Key
words, dates)|




_ 4.03 -6.58

_‘ How TO TAKE
3 GOOD NOTES

N THE
] __ CORNELL
S METHOD




Review

Power struggle for
throne

Revenge

Power of witches
prophecies

The summary

Cornell Notes

* Key words & ideas

completed)

- Diagrams & Pictures
+ Formulas

* Main Idea
- Key + Important dates/people/places
Question |* Repeated/Stressed Info

(af ter noteqd * Ideas/brainstorming written on
are board / overhead projector
+ Info from textbook/stories

R AR R A R R R R R R R )

Key Events

Macbeth- victor - meets 3 witches who tell him he will be king

He then kills the current king Duncan

Macduff discovers the murder, Duncan’s sons flee and Banquo (Macbeth'’s friend) is murdered
Macbeth visits witches again

Duncan’s son (Malcom), Macduff plan revenge

Macduff's wife and children killed-revenge

Lady Macbeth kills herself

Duncan invades, kills Macbeth and becomes king

Key people

Macbeth - Thane of Glamis, is a brave Scottish general in King Duncan'’s army.

Lady Macbeth - ambitious and ruthless- plots to murder King Duncan. However, her guilt soon turns her mad

Macduff -, Thane of Fife, is loyal to King Duncan. flees to England, trying to find King Duncan’s son Malcolm and restore him as rightful
king-, -wife and children murdered. Revenge, slays Macbeth

. Three Witches - ambiguous characters whose prophecies drive Macbeth to his tyrannical desire for power.

Duncan - King of Scotland

Malcolm - Duncan'’s eldest

Donalbain - Duncan’s second son
Banquo - Macbeth’s brother in arms and close friend

Macbeth returns to Scotland and kills King Duncan because of the 3 witches prophecy. Duncan’s son
Malcolm regains the throne but not until several main characters die.

Summary of your notes in your own words



Week/Date

Homework Task

Examination Question

Week 1 Cornell Notes Using the Pie Charts in the KO (week 1)
6th Sept Causes of change | Describe the change in the UK
in the UK economy between 1800 and today. (4
economy marks)
Week 2 Revision Cards With reference to a named example
13th Sept Post-industrial explain how the UK has moved to a

economy

post industrial economy. (6 marks)




Revision Card on Post-industrial economy Answers
1. State the 3 reasons the UK has moved to a
post-industrial economy
2. How many people work in the IT industry?
3. How many people are employed in research
and development?
4. Name the 2 institutions Plymouth Science
Park (PSP) is located close to.
5. Why is share labs a benefit for PSP?
6. Why is easy access to the A38 a benefit for
PSP?
Revision Card on Changes to the rural Answers
landscape
1. Give two reasons population is growing in
South Cambridgeshire
2. Give two impacts of population growth in
South Cambridgeshire
3. Give two reasons population is declining in
Shetiand
4. Give two impacts of population decline in
Shetland
Revision Card on The UK's place in the wider | Answers

world

1.

2.

With which countries does the UK have strong
trade links?

In what way is UK culture exported around the
world?

How much is the TV indusfry worth to the UK
economy?

What percentage of internet traffic passes
along underwater cables?

Why has the UK’s political links with the EU
changed?




Revision Card on Post-industrial economy Answers

1.  State the 3 reasons the UK has moved to a Answer the questions here
post-industrial economy

2.  How many people work in the IT industry?

3. How many people are employed in research
and development?

4. Name the 2 institutions Plymouth Science

Park (PSP) is located close to.

Why is share labs a benefit for PSP?

6. Why is easy access to the A38 a benefit for
PSP?

o




Morning Checks

Get the booklets out that you did last night to the pages that you completed
The teacher will say ... One Two Three ... Show Me!

Hold up the booklet so the teacher can see that you have completed your
homework.

HW club - before school in Year 11 common Room
- After school in MS2

Detention - Library area



What will you end up with

For each cycle:

e Exam question practice
e Notes on the topic
e Revision cards for the topic

KEEP THEM FOR YOUR REVISION FOR ALL ASSESSMENTS AND YOUR
FINAL GCSE EXAMS



